Algebra 1- January 9, 2014 Name K—Q/k/\ . Ib:d

Inequalities and Systems of Inequalities Workday @ Period
Solve each inequality and graph its solution. -
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Is the point (2, 1) a solution to the system of inequalities?
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Sketch the solution to each system of inequalities.
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15) Tony is doing a project for his agriculture class and is planting a small farm with corn and bealgg.

Com costs $2 per acre to plant and beans cost $4 per acre to plant. Tony has a budget of $48 for his
small farm. In order to get the grade he needs, Tony has to plant at least 12 acres of all of his crops
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combined. Write a system of inequalities to represent Tony's situation and graph the solutions.
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16) Sandy is selling cookies and cupcakes for a fundraiser. She makes $2 for ever§< cupcake and $1 for” The dot
every cookie that she sells. She wants to earn at least $10 on her first day. She is limited on supplies
so she can sell no more than 8 total items in a day. Write a system of linear inequalities and graph the

results.
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17) Vance has 320 andl wants to buy food and treats for his dog. Dog food costs $5 peréound and trans The dot
are $2 per pound. He wants to buy at least 5 pounds worth of food and treats total. Write a system of

\{near inequalities to represent the situation and graph the system.
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WS - Writing Linear Inequalities and Systems Name:

Write the system of linear inequalities represented by the graph.
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Write the linear inequality represented by the graph.

1. 2,

— Y>3x—6’

My
=22
|V
=)
>
-\—
‘Q

T Wé—jg;x ¥3




